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14. ASSIGNMENT TOPICS WITH MATERIALS

1) Draw a parabola having an abscissa of 30mm and the double ordinate are 70mm.
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2) Acircle of 50mm diameter rolls without slipping on the outside of another circle of diameter

150. Show the path on the periphery of the rolling circle.

3) Construct a diagonal scales to read kilometers, hectometers and decameters given that 1 km
is represented by 5cm on the drawing. Mark a distance of 1.54 km on the scale. What is the
R.F?
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4) The distance between city A and City B is 15km. On inspection of the road map, its

equivalent distance measures 3cm. Draw a diagonal scale to read 5km minimum. Show on it
a distance of 3.85km.

5) A coil is unwound from a drum of 30mm diameter. Draw the locus of the free end of the coil
for unwinding through an angle of 360°. Draw also a normal and tangent at any point on the

curve.
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Five marks guestions:

Unit 1;

1.  Two fixed points A and B are 100 apart. Trace the complete path of the point P moving in
such a way that the sum of dstances from A and B is always the same and equal to 125.
Name the curve. Draw a tangent and normal to the curve thrugh a point 30 above AB line.

2.

Unit 2:

1. A line AB is 80 mm long and the end A is 15 mm above H.P. The other end B is 10
mm in front of V.P. The line is inclined at 30° with H.P. and 45° with V.P. Draw the
projections of the line when it is in 1st quadrant.

2. Aline PQ contains a point O on it such that the ratio of the distance of the PO: OQ is
1:2. The end P is 20 mm above H.P. and it is in 1st quadrant. And the other end Q is
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in V.P. The point O is 35 mm above H.P. The line is inclined with the H.P. at an angle
30°. The elevation length of the line PQ is 70 mm. Draw the projections of the line PQ.

Problem 4.11 Projection of Straight Lines — A line AB is 80 mm long. It is
perpendicular to profile plane. The point A is 40 mm above H.P. and 30 mm in front of
V.P. Draw the projections.
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Problem 4.8 Projection of Straight Lines — A line PQ 80 mm long is parallel to V.P. and
inclined to H.P. by 55°. The end point P is 20 mm below H.P. and 30 mm behind V.P.
Draw the projections of the line PQ.
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Problem 4.7 Projection of Straight Lines — A line AB 60 mm long is parallel to V.P. &
H.P. both. The end A is 30 mm above H.P. and 40 mm in front of V.P. Draw the

projection of line AB.
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Problem 4.4 Projection of Straight Lines — The top view and the front view of the line

EF, measures 60 mm and 50 mm respectively. The line is inclined to HP and VP by 30
degree and 45 degree, respectively. The end E is on the HP and 10 mm in front of VP.
Other end F is in the 1st quadrant. Draw the projections of the line EF and find its true

length.
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Problem 4.6 Projection of Straight Lines - A line YZ, 65 mm long, has its end Y 20 mm
below HP and 25 mm behind VP. The end Z is 50 mm below HP and 65 mm behind
VP. Draw the projections of line YZ and finds its inclinations with HP and VP.
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Problem 4.5 Projection of Straight Lines — A line PQR, 80 mm long, is inclined to H.P.
by 300 and V.P. by 450. PQ:QR :1:3. Point Q is in V.P. and 20 mm above H.P. Draw
the projection of the line PQR when the point R is in the 1st quadrant. Find the
position of the point P.
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Unit:3

1. Problem 6.1 Projection of SolidsA pentagonal pyramid has height 60 mm andsitie of a
base 30 mm. The pyramid rests on one of its sides of the base on the H.P. such that the
triangular face containing that side is perpendicular to the H.P. and makes an angle of 45
degree with the V.P. Draw its projections.

}n’

2. Problem 6.2 Projection of SolidsA hexagonal prism of 30 mm side of base and 70 mm
height, resting on the H.P. such that the axis is inclined at 300 to the H.P. and 600 to the V.P.
Draw its projections. Keep the top end of the prism near to the

V.P.
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Problem 6.3 Projection of SolidsA cylinder diameter of base 50 mm and height 70 mm is
resting on the H.P. on a point of its periphery of the base. The axis of the cylinder is inclined
to H.P. by 300 and the axis is inclinet450 to the V.P. Draw the projections. Keep top end

of the cylinder near to observer.
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Problem 6.5 Projection of SolidsDraw the projections of a cube of side 50 mm which rests
on a point of its corner on H.P. andeoof its solid diagonal is parallel to H.P. and
perpendicular to V.P.
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5. Problem 6.6 Projection of SolidsA hexagonal pyramid of side of base 30 mm and axis
length 90 mm rests on one of its slant edge on the H.P. such that the plane containing that
slantedge on which it rests on H.P. is inclined at 45° to V.P. and the apex is near to the V.P.

Draw the projection of it.

k

IAT ETAGE

e
i ‘ ’ < i
; | G b © IND STAGE :

IST STAGE

A
v/

6. Problem 6.7 Projection of SolidsA cone of diameter of base 60 mm and axis length equal
to 100 mm rests on a point of its peripheryha base on H.P. such that its axis is inclined at
an angle of 35° with the H.P. and 60° with the V.P. and the apex is near to the observer. Draw

its projection.
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7. Problem 6.8 Projection of SolidsA pentagonal prism of side of base equal to 40 mm and
axis height 110 mm rests on one of its corner of its base on H.P. such that the axis is inclined
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at an angle of 40° with H.P. and 60° with the V.P. Draw its projection.

a0

IRDETAGE

o] L4
1°2 o 3’5 3 \
‘ A ¥ a2 T
= i
|~ '
/ 1y / J’f 4 /
| 5 / P il P / b
k' Fa /
‘ - = / .
A )
¥ Ly d T ¥ F Yy T ;
i dh & o 2 b 5 'l
all = i _..f’f _n‘""_
L - - 1
l._.l i >
l e I 1 . [T | = 3
FI
| !k -
I'|3"“--._._‘_ b IO STAGE
c -'; > [& = ]
P IE IND STAGE
157 NTALK
H

8. Problem 6.9 Projection of SolidsA cone of diameter of base 60 mm and axis lengtialeq
to 100 mm rests on one of its slant generators on H.P. such that its axis is inclined at an angle
of 65° with the V.P. Keep its apex near to the V.P. and draw the projections.
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Unit:4

Problem 7.1 Section of SolidsA cone with base circldiameter 60 mm and axis length 75
mm is kept on its base on the ground. It is cut by a sectional plane perpendicular to H.P.

and inclined at 60 degree to V.P. at a distance of 8 mm away from the top view of axis.
Draw sectional elevation and true shapéefsection.

Drawin

2. Problem 7.2 Section of SolidsA cylinder diameter of base 50 mm and height 70 mm is
resting on H.P. on its base. It is cut by A.l.P. in such a way that it makes an angle of 45
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degree with H.P. and passing 10 mm above the centernaigist. Draw elevation,
sectional top view, Sectional side view and true shape of the section

Problem 7.3 Section of SolidsA pentagonal pyramid, side of base 40 mm and height 80
mm is resting on H.P. on its base with one of the £df¢he base away from V.P. is

parallel to V.P. It is cut by an A.I.P. which is inclined at 60 degree with H.P. and passing 20
mm below the apex. Draw its elevation, sectional plan and true shape of section.
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Problem 7.4 Section of SolidsA hexagonal gsm is resting on H.P. on its base with two
edges of base parallel to V.P. It is cut by an A.l.P. which is perpendicular to V.P. and
inclined to H.P. by 45 degree and passing through a point 40 mm above the base & on axis.
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Draw elevation, sectional plasectional side view and true shape of section. Take side of
base 30 mm and height 60 mm.

5. Problem 7.8 Section of SolidsA cone of base diameter 60 mm and axis height 90 mm is
resting on its base on V.P. One cutting plane panaita V.P. and perpendicular to H.P. is
cutting the cone such that true shape of the section of the cone is a circle of diameter 35
mm. Draw sectional front view and top view of the cone.
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Problem 7.9 Section of SolidsA hexagonal pyramid of side of 40 mm and height of
axis 110 mm is resting on one of its inclined vertical surface on H.P. such that its axis
remains parallel to the V.P. Itis cut by a cutting plane which is inclined at an angle 45°
with H.P. and bisecting the axis of the pyramida®rront view, sectional top view.



